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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2019

Subject Name: Microwave Engineering & Antenna Fundamentals
Subject Code: 2TEOSMAF1 Branch: Diploma (EC)
Semester: 5 Date: 19/03/2019 Time: 10:30 To 01:30 Marks: 70

Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Define the following terms:
a) Which of the following lines is non-radiating?

A) Opentwo wire  B) Coaxial C) Both D) None of the above
b) The fabrication of microstrip line is done by

A) photo etching B) printed circuit method C) oxidation D) cladding

c) A waveguide section in a microwave circuit acts as
A) LPFilter B) BPFilter C) HPFilter D) BRFilter

d) Which TM mode in rectangular waveguide has lowest cutoff frequency?
A) TM11B) TM01C) TM10D) TM21

e) Inacircular waveguide the dominant mode is
A) TEOL B) TE11 C) TE20 D) TE21

f)  Microwave frequencies are normally regarded as those in the range of

A) 1to 500 MHz B) 1000 to 10000 GHz C) 1to 100 GHz D) 10

to 1000 GHz
g) To couple a coaxial line to a parallel wire line it is best to use
A) slotted line B) balun C) directional coupler D) A/4 transformer
h)  The most common cross section of waveguide is a
A) Square B) Circle C) Triangle D) Rectangular
i) A transmission line has a VSWR of 2, the reflection coefficient is
A)1/3 B)0 C)1/4 D)1/2
j)  The material generally preferred for waveguides are
A) Brass and Aluminium B) Cast iron and steel C) Non Metallic solids
D) all of the above
k) -------- is basic building block for any practical antenna
A) Current element B) Monopole C) dipole D) loop
[)  Signal propagation in a waveguide is by
A) electrons B) holes C) electric and magnetic fields D) air pressure
m) Directivity is inversely proportional to.........

A) HPBW B) FNBW C) Beam areaD) Beam width

n) The intrinsic impedance of the free space is
A) 80IT B) 10011 C) 11011 D) 12011

(14)
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Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

Q-6

Q-8

(a)
(b)

(a)
(b)

()
(b)

(a)
(b)

()
(b)

()
(b)

(@)
(b)

Attempt all questions

Explain radiation from an oscillating dipole in detail.

Explain radio Communication link between transmitting antenna andreceiving
antenna.

Attempt all questions
With necessary analysis and equation explain the working of slot antenna.
Derive and explain Friss transmission formula.

Attempt all questions
Derive the expression for radiation resistance for half wave dipole.

With figure explain the concept of pattern multiplication.

Attempt all questions
Explain propagation of wave in rectangular waveguide.
Explain the working of Faraday’s rotation Circulator. What are its applications?

Attempt all questions
Explain working principle of PIN diode.
Describe the construction and working of Magic Tee.What are its applications?

Attempt all questions

What is Faraday’s rotation principle? Explain the working of Faraday’s rotation
isolator.

Explain Working of reflex klystron. Compare it with cavity klystron.

Attempt all questions
Draw block diagram of pulse radar and explain each block.
What do you mean by Doppler effect? Explain operation of MTI radar.
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Q-1 Define the following terms: (14)
a)  Aladlnigl 59 il [Ha-20420 92
W) B oL AR ofl) sioifsad wl) oid $) GulsdniEl 516 dl

b) wiSsiReu Aldqdl adlaz............... 2AURASAML 219, 69,
1) glzl w12 ofl) sorua Alz ugala =) 2ilsuaq &) sadlo
€)  HHsA ulszHi dqous (At ... YHIBL 514 52 €9,

1) siaillezz oil) ofl. vl (3e2z «l) siandluilsees &) oilonzuilsea:
d)  doteliza AARHEHL 541 ZlotH HigHl A1l 12l 5215 2Uade 97
) 2wy 11 ofl) Zluin 01 2dl) 2lzin 10 &) Zluin 21
€) allusiz 45l ucaaoll Rald........... £9.
»1) TEO1 oil) TE11 «dl) TE 20 <) TE21
) wdsida glsacadle amier dd 4 geldl o HLAAHL BUA 69,
1) 1 ¢l 500 Holsza ofl) 1000 2l 10000 oilows2o 2dl) 1 =l 100 oilowses
&) 10 =l 1000 oilouszs
9)  AUHIAR AR Al UR Bis AUisdl 2uAL 21RAL HIZ dedl GuloL 5241 43 €9,
2) 2dizg didd  oil) ogazdl) [zauas swaz d) a/4 2iusiiz
h)  qaouSedl Al 21t 514 (Ao ot 9.
1) 2592 oil) uda dl) Bisia d) doizy
) 2leufod dAiddmi 2 < dluoeipiz 9, L ulAlbe opis 6.
»1) 1/3 oll) 0 2dl) 1/4 &) 1/2
D 2imien Zla 9oadga w2 Wil Al 9.
1) o1, i viHAaH ofl) 5122 2024 i 22lA 4l) Al H2u(as Ailagu
§l) GuRisd dHIH

) SITURL A4S Die2edl HIZ HORA H5L 6dls 99,
1) AdHI 825 ofl) Hidlula ) duia d) qu
) Qoudsui Rdg........... U AL 8,
1) Saszid oil) (29gl «l) Salszs vied 2oisld &l <) gatl eouel
M) geRs2ldlZl uldsn uHBz............. £,
1) siAlo{lsorey ofl) Bigoicoilsotey 2l) oflH [Azd1z &) il usiond
N)  H3d ool HidRs 2AA.......... 9.

1) 80 ITeil) 100 IT=4l) 110 I1él) 120 11

Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)
(@ [azdd (2aydlel [Aslaszaui AAaq Anmal, 7
(b) izl UARA 5391 2 Bie2ell U 524 423, L34 6212 [Asell uumal. 7

Q-3 Attempt all questions (14)
(@) o3l [Asau i AHl520L W18, 2E12 Dieeeledl sHeAl USRI &9, 7
(b)  Slu 21cuMad SlFalA Gt 531 2 YHMAL. 7
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Q-7

Q-8

(@)
(b)

()
(b)

(@)
(b)

()
(b)

()
(b)

Attempt all questions
gL d39L e HI2 23A0A ulasiz 12 viEe 54 uind s210.
2A15(d 12 U2 IRUs1R-AL v YHMA €9,

Attempt all questions
o114 A2 dolAl U1 UHMAL,
53l 22U, AAA2RAL 51HAL AHMAL dell 51A5HL 4 92

~

Attempt all questions
(et $1AL3L 51 [RAEAIAA AHMAL
Hlows 21l [AHIEL 24 51 A 520, A<l 51541 9 92

Attempt all questions

53 WReHE Rigtid 4 92 53l uRampl suddiazaHdl sl duemdl.

[Reds 5221l 514 UHmdl. 582l Klystron Aid deusell s,

Attempt all questions
YEH, 23120l 6AlS SLARUM SIRL 2 25 6Alsd AHMAl.

-

SIVER DU LA AHIZL HA|OL 9 692 SAHZI2US 2312+l s100{12] Al

~
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